Chapter 1 Review Questions


Questions

11.
Scarcity can be best defined as the

a.
problem set by the uneven distribution of wealth and resources.

b.
problem set by unlimited wants and needs confronted with limited resources.

c.
lack of time that we have during a regular working day.

d.
lack of large enough fossil fuel deposits. 

2.
Which of the following is a macroeconomic topic?

a.
Explaining why the Federal Reserve raised the interest rate.

b.
Explaining why the price of a personal computer fell.

c.
Explaining the effect of an increase in the gasoline tax.

d.
Explaining what happened to the price of wheat last year.

3.
Which of the following is a normative statement?

a.
Health care costs are rising.

b.
Fifteen percent of Americans do not have health insurance.

c.
All Americans deserve to have access to adequate healthcare.

d.
Most employers offer healthcare benefits.

4.
To develop economic science involves all of the following steps EXCEPT
a.
testing.

b.
model building.

c.
observing and measuring.

d.
moral evaluation.

5.
Ceteris paribus is a Latin term that means

a.
first among equals.

b.
certain causes.

c.
cause precedes effect.

d.
other things remaining the same.

 6.
A positive statement

a.
must always be right.

b.
cannot be tested.

c.
might be right or wrong.

d.
cannot be negative.

7.
The core idea of rational choice means that

a.
people rationalize all their personal decisions.

b.
rationing of loans among their clients is usually performed by banks.

c.
decisions are usually made by calculating a ratio of assets to liabilities.

d.
people use the available resources to most effectively satisfy their wants.

8.
Joe could go to school for a year and train to be a computer scientist at a cost of $10,000 for his tuition and books. After the year, Joe can get a job earning $30,000 per year. Joe also could not go to school and get a job earning $15,000 per year right now. In terms of dollars, the opportunity cost of going to school is

a.
$10,000.

b.
$15,000.

c.
$25,000.

d.
$30,000.

9.
Amy can study for an hour or spend that hour sleeping or going out for dinner. If she decides to study for the hour, the opportunity cost of the hour spent studying is 

a.
definitely going to sleep

b.
nothing since this is the choice she opted for

c.
sleeping or going out for dinner, whichever she would have preferred the most

d.
sleeping and going out for dinner

10.
Entrepreneurship, as a factor of production, refers to

a.
the technology used by firms.

b.
the human capital accumulated by workers.

c.
the value of the firm’s stock.

d.
the human resource that organizes labor, land, and capital.

11.
The type of income earned by labor is called

a.
rent.

b.
wages.

c.
interest.

d.
profit.
Answers
1. B

2. A

3. C

4. D

5. D

6. C

7. D

8. C

9. C

10. D

11. B

